N
Ean &
¢ |2
oy e S 3
[72] o M
S olele|e]®
S SIS|IS|S
8 8 |
2§ HEIEIEIE
8 mm . o
¥ - o >~ .
8 - [¥e) = =~
pses |3 JMEHRE
m (=] l_l S W m ™ S =
A ER S I E
~ 5 M EININ I
. S €3 NS N N E:
3 3 o9 -
I &= K
8 .,m o 38 = 3
S 883 & = g
38R 3 S : )
33358 | £ g 2
I8 S % ; W 5 X
L E O T
N RS I ML RS
3 Yy e m - M 3| 32
Se¥ | SR HMHHHER
LS m 3 & "o
§aTy | 38
o §'R S -
% S8 m B e o ()
2 3¢ o 5le|l T |=l<
5883 .8 [§ s|s| & |B[Y
S5SY ENTS |2 olx| 8 |22
e £8% BES 2 |Z|3] & |gE
o N BRY S & Lle|l & |&
¢ 4ee 1) 85 46e
g 0008
§s§ & e 29422  ESUZZ ”W W 6% -
3 w . . . -
S8ST — N 29222 7522z T X L RN
SR . C Nao | EN]|g S| 8
[
& g922z |\ rouze S| 8 3
SR
\ - P90z + 85422 + 010 - S ooor A
\ - 497022 + 98422 + 110 - 0008 -
\ - 69427 + 95422 + #0 - - 0002
L sz L esize + g0 - L 000/
S
3
g
L pAlee T 29%ee + 0 - - 0000 IO.
% - ddeee + 99422 + 110 - - 0006
‘ - 64427 + 89422 + 0 - - 0008
g
5 S BEE
Qal 3 |88
S ~| (R
\ - 28427 + 04422 + 0 - - 0002
\ L rgizz L 1sze + o - L 0009
\ - 48027 + Atz + 010 - - 0008
- 68422 + 08422 + 60°0 - - 000%
D)LY h
G0°LESH0
- 26422 + #8422 + 800 - - 0008
L 6022 -+ 82z -+ 600 - L 0002
L . €1 . €1 . _ Vl L . _
967422 + 487422 + 040 SEor oo
NS
TS S
- 9622 - 98422 + 010 S a0 ]
S s 3
el e L 66422 T 88422 + 010 - - 00700 IO.
£S5 $%
NG S<e | ppe 1 o 1 0 |l SN | e |
NSSS wgzz=my 6632 | 68z8 1 040 | § S 20°96
o 6276 +0=wey A=
S
k 66°4¢C 4 8881 119 - L 0006 -
~ 667422 88uLzeT 40 - 4748 A
. - 46422 + 48222 + 000 { B - 0008
mk %= |2 &
o A.W.F W 5
SHIY
~
) 967022 |, 987222 |, 949 | , 0002 |
N s6uzz |\ 98z | 600 2899 |
g .
Sgg WGE'L27=2Y __ . . e
m mm g V6" 19p +0="wsy ) 6428 | eBizE |, g0 | S S y 0009 |
SgsS \ g2z |\ souzz | 900 _mm N 196
R R_ ]
3
, 96422 |, 887422 |, 600 , 0805 |
N 6222 88uzz T 600 | N 0008 ]
=§§
SSw
o pd.a 4_...
538
__ - 66422 + 68422 + 010 - - 0005
N \ . . . gjse .
N - 20922 1 26422 + 010 { S L 000¢
N NN
S Ji 278
S| 3
& |
- N
- 90'927 + 867422 + 60°0 - - 0007
38
- 40'922 + 86422 + 600 - SSIF ooor -
LS 4_~
S.¢ - 80927 -+ 66422 + 60°0 Nat N #90 A
2sS3e I
~SSF N o9z s oogzz 900 [ 8080 1 S
S ) . 60°0 00°00
SIS - 60°922 + 00822+ ¢ ”IO|
&= N 600 N £6'66
60922 |\ 00922
- - 04922 + 00922 + 040 - 0006
2}
Q
o
L 11922 -+ 10922 + 010 L 0008
- 11822 + 20922 + 010 - 085,
gfes wig)gee=rd . . Ss
W m m m 19°¢LE+H0=UY m ¢l Nm.Num a0 %Nm.-m 60°0 | W W m 0004 |
=gs®? weee |\ aogez | 600 |\ T 68°69
- 11822 + 10922 + 60°0 - 6669
. - 04822 T H0BZZ T 600 Q. - 0009
=3 Mk 5
S & =5
S 3 S s :
=S m S
m S s ) 40822 |, 00822 |, 800 S| S| 6r0s
et E E <
S.2 g » N 20922 |\ 0092z | g00 SN goos
5 S 3
o Q
55 Wm S w9(g2z=2y4 . . Sg
£8SE8 (5 178 +0=wy soges | 8614ze g 0| SS 000
B~ —rS2sS [ . . ' ] y
S =B S = gz | guze | 800 | ST 6868
o D S RO i
TS| =££8
N
S < ‘ w052z | 10922 |, 99 | , 000s |
~ _ \ goazz |\ 20022 | 400 N 6562 |
n N~
(-]
a —~—~
>3 “ 1982 T S0RE T 900 | She - 0002
O = ) 33
~ » o N
= S
- 64922 + 60922 + S0°0 - - 000/
- 94922 + 60922 -+ 40°0 - r9h0 S
| 3
=~
%k - 81922 60922 + 600 - - 0000 IO|
= S S8
NS~
SS«
NS 4_~
o
W) 9ze=2y
g SeE 98°062+0=wy -6192z + 60922 + 600 | § & L 0006
SS8S S
SsSx 0 - 64922 + 04822 + 600 {| S & - 2698
8IS T i
LMﬂm &
- 41822 + 04822 + 80°0 - - 0008
K
S| <
|7
- . [
< AR U AT L 000 |
N gsgzz |\ sogez | 040 ~ 0069 |
n PR
= kS
- 80922 + 00922 + 600 | = - 0009
- 40922 -+ 96422 + 60°0 - 2698
£es SR IO I .
ESIH mmiww m&&wm 200 |[S8 / £0°08
S8ST 1 ez |\ s62zz | 800 || ] S 00°05
- 67422 -+ 487022 + 600 - 0L6r
PN m«..nW
a - 164ze +284ze + 600 { 5= - 0007
Y '
» - 98427 + 44 tze + 600 - 6658
- 64422 + 04422 + 600 - S5 w0
NSWN
S8
bR
Shal
/ - 04422 + 29422 + 400 - - 0002
| - 29427 + 95422 + 400 - - 000/
S
N
sSes Ss )
En.w SN e . . N S S o
2SYS  osuze y vy 600 | SR ) 4200 |
N§SS \iguze N aveze | 600 | IR N 0000 &
N By g
3
- 96027 + 4b iz + 800 - - 0006
wggLze=2y _|
09'¥8) +0=wy
- 667027 + 8h 422 + 900 - - 0008
- 467422 + 08422 + 400 - - 0002
< - 69427 + 28422 + 800 <[ #79 1
S
. ShlB|S
&4 L o9zee trssezt go0 1 DN | S| K| oo -
< ﬁ vw ¥ [™ [}
=) /\“\\ =
Eos 59422 | 452 | g L s -
S5 S . . . S§ .
8383 A%&N-m Eww-m o0 |[SS m 0005 |
NRST 994z |\ 85eze |\ 800 w ) 0005
(SIS 1 1 . L peap
& K 29222 0922z 400 or5
- 89427 + 89422 + S00 - - 0007
Sre
31
$g
- 04422 + 497022 + 800 - SSSr v
S~
)4 L2e=Pupdzy | s
P ¥ZI+0= 130Wd - 1442y 69422 + 200 - p9ve -
IS0l N Sée
5| S
ol ol st a0 o YN - 0002 -
VL Leg=oupazy e 4
S€°9L1+0= W] g e e | 0 1o - 0194
$SS9 ‘ 1 1 + w0 { § PR
5 x M = m E.&N-m ezl gop | 2 L 000/ |
& e ez p0 < 9280
N
g %N bouze |\ stz | - S
gsef ° . . 3
W m 4n0H m - ” M_%NNNH 174 NNNHM 800 M 00°00 H
S8ST Voia Lrgy 800 \ 0000 | ~
Rl w2z |\ 6ueze | 800 0896
9222 | 09222
x4 , , S .
N UL T dgize T 800 SR - 0006
. \ 3
10822 |, #6422 |, 80°0 2108
& / z z / .
gSee N sosez |\ reuzz N so0 | & s \ 0008
- 0.
SSSS - cowez | L6222+ 800 { S L oL
RS Y X
N Ny
EE | L sogez L 1ogez L o0 1S L 4814 ]
f S 00922 20922 800 T S 0004
g
m >
S| ¥
e sz L ezt so0 | S | ST L oovs |
© S N
o) 5
S &L
- 06922 + 12822 + 80°0 - - 0008
» - 5692z + 92922 + 60°0 - #67b
- 0p922 + 66922 + 400 - - 000%
e - 26922 + h822 + SO0 - - 0008
SsE \ £s
mmmm - 65922 + 65922 + $0°0 - mm - 6762
]
<3 “ & ._ﬂ_ =
\ L 992z -+ 19922 + 900 - L 0002
- 98922 + 18922 + S0°0 - - 000/
< - 6922 -+ 16922 + £0°0 &7 - £6°50 S
S I 3
< S
a \ a\\...\«»‘
=" S = B = S S S o [H06EEIeEE 000 ovo0——
S S S S S S S S S = <
~ o — o o)) o) r~ © Te) ~ <
~ e ~ 2] N ~ ~ N ~ = N
N N N N N N N N N m N
%)
= >
= | 3|S5 |
S o | = Z |2 | F
S w m = = ©
(«D o4 [ 4 —— o~
= s |2 |8 | =3 ©
— (5] (5] <B] e — =] w
Ny e P L I<5) e8] [2Y5)
S S |3 | 5| €| |2 | §
o ¥l ¥ | 9|l o |l o | = | =2
oc [a'= oc (W] [Ir o ~




